MPM 1D9 Semester 2, 2016 - 2017
Grade 9 Pre-AP Math
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Which expression CANNOT be simplified? (1 KU)
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2. d Which statement is FALSE? (1 KU)

1 :
(a) —3a and 4b° are unlike terms. (b) 3’ 3 and —0.7 are like terms. ‘/

(¢y’ Like terms have equivalﬁnt variable pa‘é x, x” and 2x’ are like terms. X ,
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3. C/ Which statfent is TRUE? (1 KU)
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@) -3a 4b2) et e Saplial X (b) In the fexpressmn —3a(4b ), —3a and 4b
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3a(4b ) simplifies to —12ab” . (d) x+x’*+x’ simplifiesto x” . X
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b The side length of a square ., 5x’. What is its PERIMETER? (1 KU)

y/ 25x¢ 20x3 (¢) 20x° () 25%°
A The side length of a square is 5x’. What is its AREA? (1 KU) 3

25x (b) 20x (o) 20x° (d) 25x° ’7‘(5%'37/07%
Modified True/False (5 KU) A= (52‘3)( 9(3) =d Sx

Indicate th;hjt each statement is true or false. If false, change the underlined part to make the statement true.

6. TF TV 63+4 6’ B8N =648 Change: __ O48 «//
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7. TIF E vV The expression “~2x"” means “(— 2x)( ~2x)(-2x).” Change: «.2(7()(%)(7\)(7( )/

8. T/F The expression “5 — 3x” means /
“triple a number reduced by 5.” hange: 5 fea/qcpal by ﬁ(p (] #:
9. T/F I The expression “3b +5b” simplifies to “8b” Change: gk \//

10. T/F { The expression 3b(5b) » simplifies to “8b .” Change: ‘ gb \/
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12—.—Simpli(iy each of the following expressions
(a) ~7a’b+3ab-3a’h +7ab ) (52’
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if possible. Show all steps! (16 KU)
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+3ab)-(6a’b+7ab) | (c) 5’
e = 5(3%A)a)B)(b)

(d) (~7a’b)(+3ab)(-3a’)(+7ab)
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13. Write fully simplified expressions for both the perimeter and area of the following figure. (8 TIPS)

(b) Area %___-—— Ax thx=13x

(a) Perimeter
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